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In a single throw of a die, the probability of getting a multiple of 3 is
@A) 12 | BV1/3
©) /6 D) 2/3

@(h LseL_eil 6 apep el Qurps oL @b eea 3 6 wLksTs @uuspstar Hewpssa

wimg!?
A) 12 _ ' B) 13
©) 1/6 M) 2/3

The product of two consecutive numbers is 4032. Find the numbers
(A) 61,62 (B) 64,65
(v 63,64 D) 62,63

Qe SHE50SS cramaaiien QLinase 4032 erafle) ibS 61N HENET &T6wT 8.

(A) 61,62 - (B) 64,65

(C) - 63,64 (D) 62,63

Two equal sums of money were lent at simple interest at 11% p.a. fbr 3éyears and 43; years
respectively. If the difference in interests for two periods was ¥ 412,50, then each sum is
(A) ¥ 3,250 (B) % 3,500

(C{f 3,750 | D =z .4,250

o Osrens ey e 11% pafla’y dssHo 3 12 aendsesse Asr@asiuLs. <Cs
sjane) Qsras 2Cs saflailly HssHd 4 % ETHHEFSEL CHTHSSUILLLF. safleu i safler
efgHwrad T 412.50 erafled arBésunLL (grms eramig)

A)  em. 3,250 (B) em. 3,500

©) . 3,750 D) . 4,250
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4. Calculate the mode of the following data.

10

-
o0
©

Size of shows: | 4 | 5 | 6
No. of papers: [ 15| 17 | 13|21 | 18| 16| 11

A 9 B) 8

™7 ®) 5

Spsanan b Yarafl aﬁmryg‘éﬂrj}@ Wa&[H sras.

smoenflsaiien oereyser : 4 |56 |78 9]10

el Gemg seflen eramenflsens : | 15 | 17 | 13 |21 |18 [ 16| 11

A 9 ®) 8
© 7 M) 5

“Find the approximate length of the longest pole that can be put in a room 10 m x 8 m x 5 m.
(A  15.25m | (B)'/13.75 m
(C) 14.35m (D) 1255m

(]

10 8 x 8 8 x 5 8 yameycer PO Siemusled mm&&uu@m Olg 5enmmﬂ Caredlen am@unm@;

(Comrmuions)
(A)  15.25 8 B) 13.75 .8
(C) 14358 | (D) 12.55 .8

6. In a well shuffled pack of 52 cards, a card is drawn at random, find the probablllty of
diamond or kind card

AN 4/13 (B) 5/13
© 613 M) 9/13

DG smds @aussliulL 52 & Hsdr Gstam® LG sligemba pram b wapudd Gm &G
T RESLLGADS). 15 LWL Sjeevg) pregm &L s Q&S BEnssey

(A)  4/13 (B) 513

(C) 6/13 (D) 9/13
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January 1, 2009 was é'Thursday. What daj;f of the week lies on Jan 1, 20107
(A) Thursday (B) Wednesday
(CW” Friday | (D) Saturday

2009-b sperr () gemaufl 1-b Codl eflwmpsdipamio. eraled 2010:&;%&1'“@ saneuifl 1-1b Gg,é,l Gramen

Slipenton?
(A eSlwmpet ' | (B) LiGeot
(C) Qeuerefl _ (D) sef

A bag contains one rupee, 50-pains and 25 paise coins in the ratio 5:6:7. If the total amount
is ¥ 390, find the number of coins of each kind

(A) 200, 280, 240 (B) 240, 200, 280
V200, 240, 280 (D) 280, 240, 200

@ ouwle @ mumi, 50 eust LHmIL 25 musT pramwukise wpanGu 5:6:7 aeamp HHgsHd
o dreran, SiBs @UWld Gorgsn 390 muml QmBeT, @euGleum Bramudpd ahg eramanfldamsuild
BoEED? _ .

(A) 200, 280, 240 (B) 240, 200, 280

(C) 200,240,280 (D) 280, 240, 200

If a® +b% =117 and ab = 54, then find the value of chd S
a.—-
w ‘
N | g ® 2
. ; i 11
C 7 D —
(&) _ _ (D) 3

a’® +b% =117 wpyb ab=>54 eeafld a_%—!; ~ain 1Ly sreE

@ 5 ® 2
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10.

11.

12.

A man riding a bicycle, completes one. lap. of a circular field along is circumference at the

speed of 14.4 km/h in 1 mt 28 sec. What is the area of the field?
(A) 7958 sq.m. (B%B{SG sq.m.

(C) 8842 sq.m. : (D) none of the above

@ weflgan enssdlafler aul L nraedrer G sms &ﬂ)@j&]g)rréh, 36U 6o Geusid 14.4 &.18/ wenfl Cpiid.
Sleuer eT(H&g &GlgmerEend Cryn 1 Hlblib 28 Gmmg wWmeTmed iges LrLiL| CTEUEETEY?
(A) 7958 & (B) 9856 &

(C) 8842 5 D) @ gsibome

A speed of 54 km/hr is the same as
(A) 13.5 m/sec. | (B)_/15 m/sec.
(C) 21 m/sec. (D) 27 m/sec.

54 &.15/ 1 Ceusloneg SpaseL_eunm 6T er&h @S S0 ?
@A) 1358/6 © . (B) 158/e

(C) - 218/eA ' (D) 27 8/e

A constable is 114 m behind a thief. The constable runs 21 m and the thief 15-m in a

minute. In what time will the constable catch the thief?

(A) 16 min. - | (B) 17 min.

(C) 18 min. _ (OW19 min.

@R sreueit, glmLenen el 114 15 Gemeanmed o erermi. sreuci HBILsHnE 21 8 CeussSaib, e
15 8 CeusgHapd @Lq.éﬂlfsb, sTeuei eralauate Crrsda HmLman’ Qglumi? e’

(A) 16 AL s (B) 17 HOLsHe

©) 18 FbLsda : D) 19 Hubl_sHa
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13.

14.

15.

16.

Name the Indian representative, who attended the International Socialist conference held
in Germany in 1907 '

(A)  Anne Besant : (B)/Madam Cama
(C)  Ajit Singh (D) Gopal Singh

1907-1b gyar(), Agyiwafluder peoL Aubn sieuCss Comagsalls smESTRED sabg Clarar GpEw

QSliblgl wini? _
(A) el Quae’ ' (B) CuoLb sror
(©C) <onsfu (D) Carume fm

Who established the Indian Home Rule society in London in 19057
(A) V.D. Savarkar _ (B) Bhupendra Nath Datta
(CW” Shyamji Krishnavarma 9 (D) V.V.S. Aiyar -

1905-1b y,ar(h eart_efled Qgmrmsiul L @hSHu Cammb ape ienoLiL wirgmed- QS mrrhisriu’ L g?
(A) &g seunEsmT (B) uylunbstmrs s58T
(C)  Swumbg) Smegeneuion ) (D) o6l eren ST

Vivekananda founded the Ramakrishna mission in —
AV 1898 A.D. ~ (B) 1897 AD.

(C) 1858 A.D. . (D) 1859A.D.

" NGeusranhsiT, Qo (mei et LDL_‘&,mg Qam_mdlw e eTg? -

(A) 4£.9.1898 (B) &.9.1897
(C) £.49.1858 (D) 4.49.1859

The populaf greeting word ‘Jai Hind’ was introduced by whom?
(AMSubash Chandra Bose : (B) Mahatma Gandhi
(C) Vivekanandha (D) Arbindo Ghosh

‘Qegus @B eranm UTPSSI (P85S IDI(PaILESSHWelT wmi?
A)  suney sndy Gumey (B) wsargom srhi
(©) aﬁ]@gw;rrwlr_‘r;gl‘r D) =rdns Corey
7 - DJGS/19
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17. Which one of the following rivers is shortest in length?
(A) Chambal : BVDamodar
. (C) The son (D) Kaveri

Epsar_aunmer Nasfdlu opm erg?
(A)  sbud® : (B)  snGorsi
(C)  aan (D) srallf

- 18. Match the following :

Theories Propounded .by
(a) Geographical cycle 1s Walter Penk
(b) Geomorphic cycle 2. W.M. Davis
(¢) Peneplaination cycle 3. Crimkey

~(d) .Pedeplaination cycle 4, L.C. King

(a) ® () (d)
(A)\/z 1 3 4
B 1 2 3 4
© 3 1 4 2
D) 4 1 =2 3
ﬁshm@sum.auﬁjmg) Qummsss :

Gahmiiser eQerése amyser
(a) yeflullwe mpné 1. eurdstQuerns
(b)  yelllymeSlwe spnd 2. W.M. Geev
()  QuelGeneren spmédl 3.  &fbd

4. L.C. &m

(d) GugGenarer sHpHs

@ ® © @ | :

A 2 1 3 4
B 1 2 3 4
© 3 1 4 . 2
D) 4 1 2 3

DJGS/19 b | 8 | | B



19.

20.

Match the List I and List II and choose the correct code given below :

(a)
(b)
(©)
(d)

(a
(A)Wz

(B)
(©
(D)

List I
Fort of La_hore

The Jami Mosque

Red fort
Akbar’s Tomb

)

2
4
3

(b)

1
4
3 |
2

(c)

[ N R

—

(d)

3
3
"
4

List IT
Alulrangazeb
Akbar
Jahangir
Shajhahan

uigwied e e uligwen IT g Qurmssl sflwirear eflen_sow Spssarcunme Combos( gl 6r(19s)s.

(a)
(b)
(c)
(d)

(A)
)
©)
()

utigwe I

TaaT CHTL_anL_

gL @GS

QarmCaml_anL_

<iguUflen omg)

(a)

2
2
4
3

(b).

e o B

(c)

4
1
2
1

e B e

== W T

L g wia 1T
A TEISSL)
&lésuﬁ'
soamTEI&T
mma@"ﬁ%f

Who was the founder of Aligarh movement?

Badruddin Tyabji

(4)
(©)

2ellanT Quisssans Blmeilwieur wimi?

(A)
©

Mirza Ghulam

Lgemlerm Sluimig)

WOITET @@

(B) . Sir Sayyid Ahmad Brahivi
(OWGir Sayyid Ahmad khan

(B) & enswg =iswg Graed

(D) &1 enswg &G Sires

9 | DJGS/19
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21.

22

23.

Who became the Chief Minister of Madras Presidency of 19207
(A)JA. Subbarayan Reddiar B) _T.M. Nair
(C)  P.Theagaraja Chetti . (D) C.Natesan

1920-b e[ Qeananer wmhle (pgaa@wdsrTs Lged eudlSeeuT wrmr?
(A) e s&bugmwuer Qg (B) g.erid. Brwam
(©) Q. Hunsymg Qe gwimi (D) C. pCLsan

The President of India appointed two more 'Election Commissioners to the Election
Commission of India for the first time in the year '

(A) 1989 (B) 1990

(C) 1993 (D) 1994

Qi Coiige) ymamusdpE mbsors @ran( CsTsd oemammueTismar GIYWIES FneeurT
Wseepsala Huiflss o6 '
an"1989 B) 1990

(C) 1993 ) (D) 1994

Article 148 of the Indian Constitution deals with
(A)  Advocate General of the State '

(B) Attorney General |
(C)«.Comptrolle_r and Auditor General of India
(D)  Special Officer for Minorities

@pdu srflueaoliy 698 148 efleurdiug

(A) mn@.;u @i auGal an{m

B) s Lmiel Qgene

©) soamwsailsms wpob SSI'_@ILII_IIHl'_'@ 2 flam]

(D)  Apurenenwulenpasrear QQ)L'JL[ SiQIGUIT

DJGS/19 10 B
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24.

25.

26.

Article 243 C of the con_stitution of India deals with the
(A) gram sabha : (B) reservation of seats

(C)wcomposition of f:anchayat (D) duration of panchayat

Apdw srflueenifear 243 C 618 aellynsgieus)
(A)  dlgmo senus A (B) QL&E0H undl
©)  uEsTwgg Sy (D) uEpsTwSH LGNESTOLD

Which is the first Municipal Corporation in India?
(A)  Delhi (B) Calcutta
(C) Bombay ; ' D) adras

Gidwredler pged HETTL S 61g)?
(A)  QLée B) sasLm
(C) umbGu . : (D) Gwilgmrev

Which of the committee has both representation-from Lok Sabha and Rajya Sabha

1. Estimate committee

2. Committee on subordinate legislation

3. - Public accounts committee

4. Committee on public undertakings

@) 1,234 V123
© 1,34 D)y 1,3

' unun@m@m(&_,ﬁa&r Spsen) HMID GLod sent 2 m nGeniraeT _eTeT LIMymEhLoGnD @@éaései'r wreneu?

1. wHULT[HE G
2. gleva s_LBupmise Cufleorer G

-3, Qug 616G S &0

4. Quimg gienm G

A) - 1,2 3wpyb 4 (B) 1,2 wHmb3

©) 1, 3 wHmb 4 ' (D) 1 womb 3

11 - DJGS/19
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27.  Which one of the following pair is not matched properly?

(A)/National commission for backward _clasé - 1994
(B) National commission for women - 1992
(C) National Human Rights commission '_ - 1993
(D)  National commission for minoritiels | - 1993

Spasam_euphld erene sflwns Qurmbsedama?

A) | pu@ssLILL CLrpésra Caflu mamud — 1994
, (B) waararar Codli yemeanuith - - 1992
(C) Csflw wailg 2 MNenio peemTiiD : R 1993
D) Amurerenwufeanmasren Cafli oy amentid - 1993
28. Mangroove plants meet high osmotic pressure in the soil, they overcome the problem of

water uptake by

(A)waccumulation of electrolytes in the vacuole of the cell
(B)  increase in the root and shoot ratio

(C)  reduce the respiration rate

(D)  reduce the transpiration rate

LOMERIG e SIEUTraseT WeTenfleierer HSSLILIGUITAT aVoTes Si(Pdssens adli Qaradeapen. i
> Migramsema sAQEIIL BamaLEAT. | |

A Gra)ésl'_@crrrmml'_@a;emﬁ Qgerellen 654:1'_0')@] Qoup Bl rusefles @Gessdammen

B)  Gauir wpmid 5[ AHssmS.HshéSenmar

(C)  aoune sjemeney @Hapmadlemen

(D) Brrefld Gunsdlen wjaraneu @enméSlearman

DJGS/19 12 B



29.

30.

. (a
(A)J3

Match the following and select the correct answer :

(a) Egg .
(b) Fertilizer 2.
() Honmey 3.
(d) Leather 4,

) (b) (e)- (d)

4 1
® 1 3 4 2
© 4 9 1 3
D) 2 1 3 4

Brown revolution
Golden revolution
Silver revolution

Grey revolution

Enaumeuanaipenpls QurmsH sflwrar eflenanw Corey Qo :

(a) @plen .. LpUUL Yyl d
(b) e 2. Qurmer &
(©) Gsear 3. Geudraflts Ly &
d) Gsré 4. smbud Ul
() (b) (©) (d)
A) 3 4 2 1
® 1 : S 2
© 4 2 1 3
M) 2 1 3 4

The first vice chairman of the NITI Aayog was

(A)  Mr. Bimal Jalan
(C) Mr. Y.V. Reddy

HlE 2, Cuingdler 1psHed Hlenanrd Senaeuit
(A)  Mr. Swe geen
(C) Mr. Y.V.Qply

(B) Mr

OV

(B) Mr
(D) Mr

13

. Rajiv Kumar

. Arvind Panagariya

. PTESeu (GLomT

. 2ipellBs Lemmasmiluim

DJGS/19
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31. According to the report of the Government of Tamilnadu, the state is occupied the

place in the National gross domestic product per capita in 2015-16.
(A) 10t ‘ @V 11
(C) 13th (D) 12tk

2015-16 sulps <pdlen olsemsiiig, Bog wrHlon Cs8lw erelonar gor Wwrgs 2 arHr(H

2 Hugdulled - @ILib eudlsdlmg.
(4)  10cug. ' : (B) 1lleus
(C) 13cug ' (D) 12eus
32. The ————————— impose tax on profession.
(A) Central Government (B]“/State Government

(C)  Both State and Central Government (D) Nationalised banks

@g,rrgﬂéu aufll efBiLg

A)  pHeudT s B) wrhle irs

(©)  wsHu wHmD LIHl® SiTs D) | ég-&]mmmmn&asﬂuLL. Guraldl
33. Central Leather Research Institute is located in —

(A) Karaikudi - (B) Vellore

(C) - Mysore | (D)/CIHennai

wiSw Comed prmiss] Blmeuand oennbgerer GL b
A srenrsEly T (B) Geuguri

©C) aweET (D) Qosmenan

DJGS/19 - 14 B



34.

35.

36.

Which country in World’s first driver less bus service began for a short distance using Radar

technology and motion sensors?
(A)\/ France (B) India
(C) China (D) Bangladesh

> wfle) eTpg BT e psors @U BT Gowrod Cumbs Qués Crumt wHnibd GCorager
Qeenenit Azmop i 2 seiluj_a GonHs E115SHE BuéssLBADS?
(&)  @yrened S B) @pPur

(C)  eveann (D) u@&mn@g,a'%

Which city is having biggest cricket stadium in India?
(A) Chennai (BW Ahmadabad
(C) Hyderabad (D) Indore

| @Qpdureie ahs parsHo Quilu ereferer Afls0s . G Wb Se@LLLEUDDIETETE?

(A)  Qserenen (B) =iswgrurs
©) eansdyruns D)  @pani

Which state has passed a resolution to transfer 17 sub-castes in other backward castes

(OBC’s) into Scheduled Castes (SC) category?
(A) Maharastra (B) West Bengal
(C)%Jttar Pradesh (D) Bihar

@pdwrede eps wrbasda 17 elgworear 2L Gfley srdlsmer OBC Gflefler @mhg SC \ilelipe
wrHoib Qawg) wGsrst HlapGeuppli L g?

(A)  waenrrTegigFm | (B) Cupe eunismerd

(C) 248y 95Cas D) - Sani

15 | DJGS/19
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37.  Who has been awarded Dr. APJ Abdul Kalam Award for meritorious services in the Higher
education department of Tamil Nadu?

(A) L.Narasimman
(BY', P. Shanmugam

(C) S. Suresh Kumar
(D)  Chandrakala Mishra

LrsLit AP cojligidvsand edma 0 Bl oirdlear e wisdel geonsans Spsanelrsefld wWmmaE
GULPRISLILIL L §)7?

(A)  L.ppélbwen

(B) P.sawapsid

(C) S.&Creiy @LomT

(D) _ g Hlrseon legym

38. The president of International Bank for Reconstruction and Development (IBRD) is
(A)  Mariya Gabriel
(B) Banki Moon
(C)  Boyvko Borissov .
(DN Jim Yong Kim

wnifrenwliL) wHmib euatiéfssrear sreuGss cunid (IBRD) Wér HENEUGUIT
Ay  wflwr 5rfurﬂtud3

B)  umer & eper

(C) umiGar Guniflensy

D) P wiris i

39.  The Rohingya are the minorities of ¢
(A)  South Africa (B)\/Myanmar
(C) Canada (D) Butan

@Un@ﬂrénumisaadf GTHBTLlg.cr &y uramanioufesit _
(A) @g{p@ TN (B)  WSwremwomr
(C) SHESTLT D) yrmer

DJGS/19 16 B



40.

41.

42

GST is implemented on which date onwards?

(AW”01.7.2017 (B) 30.6.2017
(C)  02.07.2017 | (D) 03.07.2017
GST wywaéEe auns Casl erg)?

(A)  01.7.2017 ' (B) 30.6.2017
(©) 02.07.2017 (D) 03.07.2017

The first university in India started in the year

(A) - 1856 - (B)‘/1857
(C) 1858 D) 1859

@b wirellen (psed LiEmed SLp&WD Blmeuul L 6w () 6r5)?
A) 1856 | (B) 1857
(C) 1858 (D) 1859

Which is the first smokeless city located in India?
(A) Hariyana

(B)‘/Chandjgarh

(C)  Ranchi

(D)  Sri Nagar

@ndwumeilen (pse Lensuiener @evem BaJLD 6182

(A)  eflwret

B) sawrgaT
©  gngsh
D) S per

17

DJGS/19
[Turn over



43. Oxygen molecule is 16 times as heavy as a hydrogen molecule. The temperature of oxygen
when its average speed is equal to that of hydrogen at 30 K is

(A) 300K | BNU80 K -
(C) 120K D) 100K

QFallga (pasaman @ @aplrge apossmmnmel Gure 16 wLmE sawrag. 30 K
GeasiuBlereniier amaplrgaflan syrefl Caisseans Guran Geoissms QuD yEaR@IsES eiaara

Geuiublene Geuapr(Hib

(A) 300 Qaecveflarn (B) 480 Qaevedlen
(C) 120 Qsecvelanr (D) 100 Qadeflen

44.  Select the effect which is related to supercpnductivity from the following
(A) _See back effect
(B)  Joule-Thomson effect
(C)  Stark effect
(D](Meissner effect

Sipsaramuapmer s ssCur(H AgmiyamLw elamames Caib0sH
A) #Qus elenarey .

(B) gro-grbaar eleneray

(C) Stark &fenarey

D) Quuevar efenere,

45.  The molecular formula of Chromite ore is
()  FeO.CrO, (B) FeS0,.Cr,(S0,),

(Ch” FeO. Cr,0, (D) Cr,0,

&Grmerwl grgiefen Coudufwe euriitiun@
(A) FeO.CrO, (B) FeS0,.Cr,(S0O,),
©) FeO.Cr,0, (D) Cr,0,

DJGS/19 | 18 . B



46.

47.

48,

49.

~ Which organelle is absent in human sperm

(A)  Nucleus (B) Centriole
(C)’Endoplasmic reticulum (D) Mitochondria

maﬂgeﬁlsﬁ efibg QFaeile Geaens Clae Hiem 2 miLiL| 6757
(A)  2lsm (B) Qe Cuine

(C)  erenGLr Yemmseuene (D) ew Gramenflur

do not take part in mitotic division
(A)«Hetero chromatin ’ (B) Euchromatin
(C) Nucleosome (D) Lampbrush chromosome

A}

el Lréev Qee 9Ngad LkiE QupeuSladeama
(A)  QamiiyCrm gCrmGLom_ig.ear B) ., wEGICwr e
(©) HusefiCurGemd (D) Gawuldyey gCrmrCuwrCamd

Which of the following continents is a region of great biodiversity?
(A) North America (B%outh America
(C) India J (D) New Zealand

EC Qar@asuul L pripsafled BlelGlufw syerefoorar 2 udflets Lirelé 2 6TeT STL_LD 6T&)?
A) e @Quisst | (B) Qsar o@wissT |
© @ndur D) BuevGeemr

How many number of viruses are known to cause Hepatitis?
(A)};a B) 8
o 7 (D) 6

DEHEGT EMUIFEME) GTSSEET GUENSWITEN GHEUTEVEET 2 e &G Slenmen?
A 9 B) 8 :
© 7 | (D) 6
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00. What will be the amount a man would get, if he invests ¥ 10,000 at 9% per annum simple
interest for 3 years?

(A)  ,12.500 (B) 11,800
(CY/IZ 700 (D) 12,000

enem T 10,000 B gangne 9% safloy oisgsdd ppom yETHoEREE WsSH Qsdigma
DUHES SlenL_&@D Cnss Qgrens ereuaene?

(A) 12,500 . (By 11,800
(©) 12,700 (D) 12,000
ol. Four different electronic devices make a beep after every 30 minutes, 1 hour, 1% hours and

1 hour 45 minutes respectively. All the devices beeped together at 12 noon. They will again
beep together at.

(A) 12 mid night ' (B) 3am

(C) 6Gam (D/B a.m

Bre@ GeueGaum) WBlemergm 2 Lisyaun s erpub @6l @ent Qeuefigear wenpCui 30 BLlL_miger,
Lwenfl 15 wenfl opmid 1 wenfl 45 Blull_riser. oimar oi@anssib parused 12 weawnfléa aenlaarnhg)
@6l ar(plianmed, HBGg eTLPUTE) Gemhlamamig ¢ol er(pLiLyd

A »0 Grey 12 wenfl B)  ap.u. 3 waf
©) .. 6wl D)  @p.u. 9 wewd

52. Weekly income of two persons are in the ratio of 7:3 and their weekly expenses are in the
ratio of 5:2. If each of them saves ¥ 300 per week, then the weekly income of the first person
18
(A) T 17,500 (B) T 4,500
(oW 7 6,300 - D) T 5,400

Quan® BUTsSEH®OLWL ety eumorand 7:3 erarm alldlgsSland, eury Gewelend 52  eram
cilflsgdaib 2 ararar. Sjeuised @maimGo aurpd gpumis 300 Gallsfdnpen GTRITDITED (1PHED ;5urﬂso1

" U QU(BLOTELD 6TELGLETR?
(A) T 7,500 (B) % 4,500
(C) % 6,300 ' (D) ¥ 5,400
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53.

54.

55.

The ratio of two numbers is 3:4 and their H.C.F is 4. Find thewr L.C.M.

A 12 B) 16

©) 24 . (W 48

@) s (b creimadt 3:4 ararn elHsSHD Siemwpgararar. eupdler 5.Gumal. 4 erafled eumnbler
8.Qurr.o sregr

(A) 12 . (B) 16

(C) 24 (D) 48

The value of

' \/10+\f25 + \"103+«/154+J225 is

AVt | B) 6
© 8 T - D) 10

\/10 V25 + 108 + V154 + v225 an ALy

A 4 ' i B) 6
(© 8 . D) 10

5 men can bomplete a work in 52 days in how many days, 13 men finish the same work?
(A 5H2 (B) 26

W 20 - D) 30

5 yraer m Gauamavenws 52 ‘r_rafn'_a;aﬂeb APIgLILITT&ET 6Teniled 2Ah Couamaan 13 oyl gdr arggamen -

Brisafled qpigliur?
A) 52 B) 26
(© 20 (D) 30
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56.  Find the value of (1000)’ +10*
(A) 10,000 | . (B)‘/l
(C) 100 D) 10

(1000)° +10* —éin w1 sreTa
(A) 10,000 (B) 1,000
() 100 M) 10

57. A man sells two wrist watches at ¥ 594 each. On one he gains 10% and on the other he loses
10%. Find his gain or loss percent. On the whole

(A)  12% loss (BY’l% loss
(C) 1% profit ' - D) 12% pmﬁt

QA dass TR elbleimraramnub 594 mumissE @meuT elpmrT. Qeaeurm albhpdd el
10% eruapb, wpndld 10% Bl apb, SaimsE gHulL g Crsssdld seumss gnulL. oD
2IDOF BLL 56550 SE HTERTa,LD. _

A)  12%pliwn B) 1%plrbd
(©) 1%erub | . (D) 12% eruis

58. The sum of the present ages of a father and his son is 60 years. Six years ago, father’s age
was five times the age of the son. After 6 years, what is the son’s age?

A) 12 vears 7 (B) 14 years
(C) 18 years (DY?.O years '

sz wopid wsaflar gHGureasw awgsaflar mBigo 60 cumLmSEH. 6 auHLASEREESE (eI,
shenguiler euwg wsailer awmss Gurd 5 i kg aeafld 6 aum_ha@ssEU 9neE weallan auwg

GTEITEeT?
A) 12 it e B ldamuiser

(C) 18 aymLruser D) . 20 sumLruser
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59.

60.

61.

Complete the following :

PURBERBENO

A P.Q B) L,P
© WM . OWVR M

Eipssent_euhenp Hlanpey Cews.
P? U? R? S) TJ Q’ VJ O! —_— ——

A P,Q @) LP
(C) W, M o XM

At what time between 7 and 8 will the hands of a clock be in the same straight line, but not

together?
(A) 5 minutes past 7 (B) 51—21— minutes'past i
(&) 51—31 minutes past.7 - (D)v/’j% minutes past 7

S1q.ETTESD 7—&@@ 8-s@id @eld sysmridar wplaear assman waflile adi adlGr Gy

CrirGam_iged ﬁg’)@ﬁ)?

@A) 7 pups 5 HOLEs B Tomubs 5% B i
. 3 —_— ; 5 -

©C) 7 uprpal 5Tl_ BIAlL_rigar D) 7 aprybs 5E BILSlL_miger

If 75% of a number is added to 75, then the result is the number itself. Find the number
(A) 50 B) 60
(C{SOO ' (D) 400

(1 erenmentien 75% o L e 75-1 &L@Lb@urr@ <ICg eram flen_&flms crafled b eTeTEnEnTS HTEUT.
4 50 B) 60
(C) 300 (D) 400
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62, How many terms are there in the G.P. 3, 6,12, 24, 384,
vV g @) 9
(C) 10 D 11
3, 6, 12, 24,.... 384 arenp WLm&@s Agrifd ersgeamen 2 mliLser o dremer?
A 8 B) 9
() 10 : (M 11

63. Name the Act which ended the rule of British East India Company in India
(AMThe Indian Councils Ac.t of 1858
(B)  The Indian Councils Act of 1861
(C)  The Indian Councils Act of 1892
(D)  The Minto-Morley Reforrﬁs of 1909

QiBuredd, ApsBiHius soAUTET 2 feow o eilibe QsTend Qufbs 5ULLD a1 ?
(A)  1858-1b eyen® @S sayendld sl b

(B)  1861-1b syaim() @nAw soycndley s i

(C)  1892-1b yemr() @S sayendler s LIb

(D) 1909-1b e WearGLm e STFmsss s L b

64. In Maharastra, V.D. Savarkar _had ofganised the . and as secret
~ societies in 1904,

(A) Mang and Ramoni (B) Arya samaj and Prarthana samaj
(C]‘/Mit.ra mela and Abinab Bharat (D) Young lotus and white lotus
1904-b yewr(®, 6.l FeUTESTT, WSETITEYGTHED WwHmID &
@g,rn__@aﬁlu_l @lrert(h F&Fw el l_;amﬂs'ﬁ QUWITEEET 6T(Lp)&.
(A)  wrm wpmb Aymored : (B) =il swrmibd wHmID KyTissem &mngé
(C)  WOsrCuert Hmd Slesieu LITys (D) @emd g;rrmaﬁq whoib GQeudtenens Srweniy
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65.

66.

617.

Which one of the following is the longest National Highway of India?

(A) NH5 (B) NH6

(CN NH 7 (D) NH8

WQemeupuereunmieT @pdHlwrea Ferwmen Caflur GpHEpsmene 6g|?
(A) NH5 - (B) NH6
(C) NHT (D) NHS8

Which one of the following statement is not correct?

L. Rajasthan is the largest state of India in area

1L Madhya Pradesh is the second largest state in India in area
III. Maharashtra is the third largest state in India in area

IV. Karnataka is the fourth largest state in India in area

@ 1 @) 1I

© I | SN 4\

Spaa@TLeuDHIET HUDTET Sabhn) 6187

L~ @hdwurelle uphiuerelier <ig v ude BaslGuflu wrblewn jregeusmer

IL  wsdu G5Csed @rawmaug Wesu@uilw wrblen GbSwrellsr Lyiuerede
1.  wsryresg.rb eperpreug WsH@Lw wrBlabn Ghdlwreler Lrluearelld

IV.  siprisr prensreg BaslCuflu orblen @pdureia uriuereaia

@A I | B) II
) Il D) IV

Which is the largest rivers of South Indla'?
(A)ﬁ;odavau - (B) Mahanadi
(C) Narmada (D) Tapti

Ggen @bl wimeslen Bl QU S 6TE?
A) Gargreufl (B)  warbldl
(©) ‘mﬁmmg,' D)  sud
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68. Cirque is, closely associated with
AW Glacier | (B) Wind
(C) River ; (D) Groundwater

S:!:II'{;S ergGanm(h GasrL e wg)
(A uellwummy (B) snhHm
© = o D)  Pagsi i

69. The Atherva veda is related with .
(A) Yajnas | (B) Poojas
(CVDemons and spirits (D) Worship of gods

SigTeuent Ceugd 1Yemalmelaalhm)er ergaL ar QSm i jenLwig)?

(A)  wrsRiser B) yengy @smg)a;éh

(C)  ysb wpmib Cuws yeflser (D) sLajenar cuanThiGLD (PEHDEET
70. . The earliest evidence of man in India is found in

(A)  Nilgiris ‘o (B) Siwalik hills

(C) Nallamala hills (D)’Narmada valley

- ppeng sre waflsiaer @ hbassnaren e (SLwib) @bHwnelle e @areng ?
(A  fodf B) HAounells weresar

(C)  movevomeT LEmESET (D) pibeas LaTOTSETE®S,

71. Who was the author of “Yoga Darsana”?
(A) Gautam Rishi (B) Kannada Rishi
(C) Badarayana ; (DWatanjali

“Cuirs gilsand” arerm prene e Afwir wmi? .
(A)  Gaeargw fafl (B) senenir Mafl

(C)  usymwmenT _ - (D)  usepsed
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Who was the founder of Atmiya sabha? :
(A) - Ishwar Chandra Vidayasagar (B’lRaj a Ram Mohan Roy
(C) M.G. Ranade . (D) Devendranath Tagore

< p&OW sumeneu Himiewieu T wmr?
(A)  meveur shSly elsuimersT (B) @omagr gmid Comeest pm
(C) ernb.gg. prenGL M) CsCeupdlymms srsai

Match the List I and List IT and select the correct answer by using the codes :
List I ' List II

(a) Vernacular Press Act of 1878 1 Lord Chelmsford

(b) Indian Universities Act of 1904 2. Lord Curzon

(¢) Indian Councils Act of 1909 3. Lord Lytton

(d) Rowlatt Act of 1919 4 Lord Minto

(@ (b) @ . @

(A) 4 3 2
(B) 2 3 1 4
© 3 2 1 4
ON3 2 4 1

Litiquied I -6 &G'ITG‘ITIGD'Q'; L quied IT-6v 2 e Quirpsd sflurear eflenaw Caib6sH&sa .
L iguie I uiguen IT
(a) smuQumE usdNsms L b 1878 1 QaewevCuri(® Yy
() @hHw udsmasps s 1904 2 sirgen Gy
© @bHu & slLib 1909 3. &liam Gy
4

(d) Qpereol & b1918 WenGm iy
(a) (b) (© (d)
@A 1 4 “ 8 2
® 2 3 1 4
) 3 2 1 4
D) 3 2 4 1
27 DJGS/19
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74. Administrative tribunals deals with
A\ Article 323 A (B) Article 232 A
(C)  Article 132 _ (D) Article 356

fifeurs Sriumub erbs edbuflsn oig Lt uld e meurssiul L g
(A eflgl 323 A (B) &4 232 A

(C)  efld 132 (D) &4l 356

75.  Which one of the following is not correct with regards to salary

(A)/Governor_ =t Consolidated fund of India
(B)  President - Consolidated fund of India
(C)y CAG - Consolidated fund of India

(D)  Supreme Court judges.

Consolidated fund of India

5@5@ QarH&ssuul (Reratencusafled 6T seum) : SbLIETD &L’Duﬁg,mrf&

&) syepi ' - @i Gsrgiy A

B)  Gywrs sooa - @b bareliy Biub

(©) sawseE wHyb safléams senaweui - @ifw danguy Hldwb I

D) ebs uocm fBUHsdr — @hBuGsneiy S
76. In the India Federalism, with residuary powers are with |

(A)  State Governments : (BWCentral Goverﬁment

(C)  Both central and state Government (D) Local Government

@BHw el Lm Huld, ergpdlw g{;@asrn;rréjasmmg SEMEUFLD 06U (HLILIZI?
(A) wrle oremhsd B) wsHL spsTRISD

(OC) &SI — DTHlE) S| FaTRISID (D) o drenm_ & wrerrish
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T

78.

79,

The term ‘gu-illotine’ means that the speaker

(A),/stops the business on hand and puts the matter to vote
(B)  adjourns the house before expiry of the time .
(C)  disallows voting on a motion

D) reprimands a member for misbehaviour

‘fleve_ig e eremenitd Gamebellel SifSHD ; FUMBTLISGT

A) LoD SQeudSmET WPigalEE Carah ebg, @ngs@a@u@ﬁ)@ @&
B) &L §AFTLIT (1Pplge &S eUHEUSDES (e, FarLienil @58 eneusSlpmT

(C)  Siorend QerarBelmeusH@ <igund LYLLSH |

(D) paupnan pLsepa e g

In India the first Municipal Corporation was set-up in which one among the following?
(A)  Kolkatta | BN Chennai
(C) Mumbai - (D) Delhi

@nlunaile) (pser (psana 6@ wrpsIT 4 Hareambeiriu L g?
(A) Gsrvsssm : (B) Qeenene
(©)  qperu ; (D) Qicvadl

The megtings of state public accounlts committee are assisted by the
(A)  Comptroller and Auditor General of India

(B) ~ Speaker of Legislative Assembly

(C)/ Accountant General

(DS All of the above

wrble QuITg) sardsmiad G(p sl L b sl L wimyme &gmﬁu@ﬂg;gj?
(A) QB saussT HNID Sewtl&Eams Fenmn Geneaeuir

(B) wrfle s L gmu surpmwst

(C) s@aw sarsst

(D) GG 2_der imansgid

29 DJGS/19
' [Turn over



80. The new symbol of Indian rupee is blend of i
(A) Latin and Greek : (B)ﬁ)evanagiri Ra and Roman
(C)  Rajasthani and Samaskrita Bharati (D) Hindu Arabic

Qibsw mumer L e wirerd GHluiE Qumd Qumiléaiiu L ser euruferad
Hlen_gsm@LD. - '
(&) Pesdar womib ECr&eED (B) Cgeuandlf gr LD;ij@lLb Grmwesr

©) @rrgevsraf wHmib swevdlms Lmrs (D) @nhg - 2CrAs

81. Match the years given in Column A with the Naﬁonaiisation_of sectors in Column B :
Column A Column B
(a) 1969 1.  Nationalisation of wholesale wheat trade
(b) 1980 2. Nationalisation of 14 commercial banks
(c) 1949 3. Nationalisation of RBI
(d 1973 4.  Nationalisation of 6 commercial banks
: ‘/a) (b) (c) (d)
AY 2 4 3 1
B) 2 4 1 3
© 1 3 1 2
D 1 2 4 3
Qemeumeuanaupenmi QuTHS5s :
. By A ' Blyeo B
(a) 1969 1.  Qungs Cargleamns Dararpse Hm HiLenn
(b) 1980 2, 14 cuewfls Ghrmaﬁlaaeﬁ BT (HLenn
() 1949 3.  ymig sirsLenw
d) 1973 4, 6 cuentls curSGeT SiTaLenD

@ ® © @

Ay 2 4 3 1
B 2 4 1 3
©. 1 3 4 2
D) 1 2 4 3
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82.

83.

Match the following :

Period Total Population (crore)
(a) 1971 -1981 1. 84.4
(b) 1981-1991 2. ~68.5
(¢ 1991-2001 3. 1210
(d) 2001-2011 4 102.9
. (@) (b) () (d)
(A 1 4 3 2
B 2 1 4 3
© 4 3 1
@) 3 4 1 2
Gemeumeuenaupennls QUTHSSHS :
HTED | ‘ @mn§§ &&eT Agrens (Camg)
(@) 1971 — 1981 1. 844
(b) 1981 -1991 2 68.5
(¢) 1991 -2001 3. 121.0
(@ 2001 - 2011 4

102.9

(a) (b) (c) (d)

@) 1 4 3 2 -
B) 2 1 4 3
©) 4 3 2 1
M) 3 4 1 2

How many cities in Tamilnadu have been short-listed for the second-stage of smart cities

mission?
- 4 = (B) 10
& % N - OWV12

peir gl EQSGN &I [OEXZ AN DL G)refrL_mb sl L gdle sOIDBTLggarer g)ésljréja;eh G@gmm

Gaitey Qewwiu’_(Hemenes?
A 4 % “(B) 10
([0 R (D) 12
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84.

85.

86.

As per the cleanliness Audit released by the Government on August 13 2018, which railway

station bagged the top spot in 20187 &
(A)  Visakhapatnam (B)’é)dhpﬁr
(&) Tirﬁpati : (D) Howrah

2rsTRESSTD Hsevl 13 2018 weny Qeuefldiuul L ssssflbsra o ieeyg, abs G
Hevawid psd @Lses 2018-0 é]m_gggj?-
(A) aﬁ]&rra;ul'_tq.mnb' K By Cgrsyr

©  Aouud s e D)  aweyym

Which state is the first cyber police station in India?
(A) Tamilnadu (B)/Maharashtra
(C)  Odisha ' (D) Bihar

Qpdwureile erhg wrFlagdd wpsen (PFSOTS FUT FHTeudd Hlepeowib Qgmrisli L g)?
A s8p6rH (B)  warymagqyr
C)  efler _ (D) Sair

What is the time duration of the song National Anthem?
(A) 50 seconds (B) 51 seconds

(C),52 seconds (D) 53 seconds

Casélw x50 unl_aS]aﬁf G ereuaieTey?
(A) 50 eflanmigsar . (B) 51 eflarmgsen

(C) 52 efemrigser (D) 53 eflenmig seir
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88.

89.

How many Member countries are in ASEAN? .
A) - 8 . (BM" 10
©€)y 12 ' D) 14

Asandlnse flu prhsaflar srmasdle (ASEAN) erésener priadr o mliSenisarms o drerem?
@A 8 (B) 10
© 12 " D) 14

The largest atomic Research centre of India

(A)  Variable energy cyclotron centre

(B}  Centre for Advanced technology

(C)  Indira Gandhi centre for Atomic Research

(D)«Bhabha atomic research centre

@pdureier BlauQuilu ign <prmisd enowib
Q) wropsHner eensCauTFren enuwiD |

(B)  Gubul L Gsmidmt Lsdhsmen e

(C) @B sbd) siam) SLTTLES WD

(D) urur i@ < rmLESH @wwibd

India's first full fledged sport university will be set up in the state

(A) Haryana (B/Manipal
(C) Kerala (D) Punjab
@ndlwireSlen WW  pse eflememum’_ H&EsTar  LI&SmaOHSLHED wrHlegdle
DIEMDSHLILIL D_6Tens)?
(A)  enflwmrer (B) waflumed
(C) Gayenr . _ (D)  weEpema -
33 - DJGS/19
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90. Who is the first women vice chancellor for sports University in Tamil Nadu
(A)  Sheela Nair |
(BN Sheela Stephen
(C) Vijayalakshmi
(D)  None of these

SODBT g 2 L paeell wpmib eflameanun’ () udsmosspssdler (pga COuem sienear GaubsiT wimi?
(A)  ofeor pru

(B)  eSer evieLien

(€C)  eflswels

D) Geupdle ggidlaeama

91. India's largest public Wi-Fi service has been launched recently in which Indian State?
(A) Karnataka - (B) _ Haryana
(C) New Delhi (DWaharashtpa

@mg]u_irraﬁlm THS Lorrﬁeug,ﬁsu &S uLusaTum_Lq,mssrra; Wi- fl cussl 2fls gnrjg,,@(;lmasrrm Geeman

Ggm_rmsiul (Herarg?
(A  siprLsT (B) enflwmerm
©) ysigea _ (D)  wsmyresgyT

92. Whose birthday anniversary is celebrated as the International Day of Non-Violence?
(A) Nelson Mandela
(B) Abraham Lincoln
(C_)ﬂ{lahatma Gandhi
(D) Martin Luther King

SpseLauigafles.  wrmerw  Gpps  prever  sieuGss  Selpeurg oy Hemwors
GamerLm_tiu@&Eng ? ; '

(A)  Gmeaeen wamGLeom

B) ulrsmd dkiser

(C)  warswTETHS

(D)  wrigen s Sk
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93.

94.

95.

Which city in India has launched a mobile application for women's safety while travelling in

train? _
(A)/ Mumbai ' (B) Chennai
(C) Kolkata ' (D) Bangalore

@rdurefler eihs pETEHD (Wsar (pswrs qulldlen Lweaflagn GCurg duarsafiarn un@a&ﬁumu 2 m#
Qe Qwranuied eilefiCaager siflapsliuBSsLuL L&)

A)  pweu _ | (B) Geananen

©) - swssgm w H D) QurssEsm

The neutrino has

(A) Negative ché\rge and half spin
(B)‘/Zero charge and half spin

©) Positive charge and integer spin

(D) Zero charge and integer spin

B ACarm QuodmULIS

(A) el flangyn’ L b LHMID ST SHHPHS
B) &y Lﬁleh@]ﬂLl_l.;D WLHOID 6T FHEHFWPHE
(C)  Cpir Bldnggmi b wHmId PR s
(D) a’.@ Lﬁiﬁ&r@m_'_l__l.ﬁ LHNID PP SOFPHE

If the voltage gain of an amplifier without feedback is 20 and with negative voltage
feedback it is 12, then the feed back fraction is

(A) 5/3 | B) 3/5
© 15 (DWO33

L&éﬂ@m'_l_l.ﬁlsbs\m em QumsHler Waran(pss QumEs eran 20 adi Wargr L CErhi&siurL
Wlerr g Wenanipss QumEs era 12 erafled Wengnr L Genar ey srars

A 5/3 ; (B) 3/5

© 1/5 | D) 0.033
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96. Match the followwg List I with List IT and choose the correct answer using the codes given

below :
List] List II
(a) Chloride . 1. Constituent of plastocyanin
(b) Zinc 2 Enzyme activator for photalysis
(¢) Copper # 3, Necessary for translocation.of sugars
(d) Bdron 4. . Essential for the biosynthesis of IAA

(@) (b) (c) (d)

(A;JZ 4 3 1
~ (BM 2 4 1 3
- (C) 4 2 3 1
) 4 - 3 2 1
| Gy Asm@ssuulBerer uligwe I 26 uligwed IT 8 Qurmsss. @@uﬁ@&@fﬂaﬂ@[_ﬁg aflwumres
e emwg CarpbshH
Ul iguiev I - ulgwe IT
(a) ECameay@m 1. LSI@TH@'UGLMUJGUﬂG&T o _@ummer
(b) Hm 2 gafllblergsellen Qpmd QewduieusnE
(é) ST 3. &fréaamlj@i_fr@umfraﬁlgb@@sh@usmmuwg,@
(d) CGumymen 4. IAA o Wiflwed Ceiidmase wpsdwiomars
@ b . © @
A 2 4 3 1
B 2 4 1 3
C) 4 2 3 1
WD) 4 3 2 1
97. The resolving power of normal eye is
AV’ 100 4 (B) 1,000 p
(C) 650 u ' D) 10 u

srgnyen wealls seranflen LGS D é‘raiﬂug,j :
(A) 100 u ' (B) 1,000 u
(C) 650 u D) 10 u
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98. What is the normal pH of human blood?
A T B). 7.6

W 7.4 (D) 6.8

wefls Qrésssea pH WAL Wrg?

A T B) 7.6
() 74 ' (D) 6.8

99. Non-volatile covalent nitride, AIN undergoes hydrolysis to give
(A) Aluminimum
(B)  Aluminimum hydride
{_C)\/:\mmonia and aluminum hydroxide

(D)  Aluminium and a mmonia

crafdléy peluirsms saL 1 QenenriiL| eppLenyLmen AIN, BrmhUGUIL AL H) GarHuugl
(A)  sgflaiub

(B) egiaiub ean @i

(C) Curaflum whHmib ey WeRwib epamt”réens (b

(D)  S@blalwb wHmb o Gomeflwn

100. ~Which of the following reacts with phenol and produced bakelite?
(A) (CH,O0H), (B) CH.,CHO

(©)W”HCHO | (D) CH,COCH,

Slerreu (meuameummIE 6T HeniLcor LiamTe) LeMhg) Gusenel_ 2 maurdlng?
< s Ly oy el

(a) (CH,0H),

(B) CH,CHO

(C) HCHO (D) CH,COCH,

B




